## APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

city of	Project Title: Contractor:	The District Public Parking Lot - Phase 4 Nilles Associates, Inc.				
Ankeny	Address:	, Ankeny IA 5002	23			
beinging it all together	Finance Budget Code:	977.3977.4210	Finance	Project Code:	105	
	Vendor Project or Invoic	e #: 1600	3.07	PO#		
	Original Contract Date:	August 15, 20	16	Vendor#	316	
Date of Council Meeting _	July 3, 2017	D: From: 05		/IENT REQUEST	#	
	PAYMENT PERIO	<b>ט:</b> From:05	/01/17	_ unougn	05/3	

beinging it all together	inance Bud	lget Code:	77.3977.4	77.3977.4210 Finance Project			Code: 105.4210		
		ect or Invoice #:		16003.07	PO	#			
	Driginal Con			15, 2016	Vendo	r#	3164		
Date of Council Meeting	July 3, 2	017			PAYMENT RE	QUEST#	7		
200 State Co. 100 St. 100 September 100 St. 100 September	PAYN	TENT PERIOD:	From:	05/01/17	throug	ıh:	05/31/17		
Contract Summary Original Contract Amount: Net change by Change Orders: Contract Amount to Date: (line 1 ± 2)  Total completed and stored to date Retainage:0 % of Completed Earned less Retainage: Less previous applications for payr SUBTOTAL  OTHER CHARGES (Please attach an	: eted Work: nent:	\$ 5	65,300.00 53,700.00 99,240.00	\$ \$ \$	99,240.00 87,215.00	\$	12,025.00		
CURRENT PAYMENT DUE	itemized list)					\$	12,025.00		
Balance to finish, including retainag	je:		,	\$	19,760.00				
Contract Time Remaining (If applicat	ole)		-						
	he amounts have	been paid by the Contra	on and belief th	e work covered b	Certificate(s) for Payn	ハラ Jow Date	ed and payments		
Submit to:	Matt A	Ahrens, 220 Wesi	t 1st Street	, Ankenv. Io	wa 50023				
Email: mahrens@Anker		Phon	V//	15-963-3536					

Date Printed: 6/17/2017

# APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

#	Date		Amount		#	Date	Amount	_		of Change Orders		
	9/10/2016	\$	28,247.50		51				#	Date		Amount
	10/10/2016	\$	20,657.50	=.X -xx	52				1	4/17/20	17 \$	53,700.00
	1/10/2017	\$	11,812.50	-0 E:	56			<u></u>	2			
	3/10/2017	\$	4,305.00		54				3			
0	4/10/2017	\$	7,862.50		55 _			_	4			
	5/10/2017	\$	14,330.00		56			_	5			
				-	57			_	6			
sus					58			_	7			
					59			_	8			
_					60			_	9			
				2	61			_				
				- E	62			_				
3					63			<b>-</b> :				
1 _				20	64				13		94	
5 _	9				65							
3 _				<u></u> 1.	66			_				
7 _					67							
8 _				. 0	68			_				
9 _				9	69 _			_	18			
) [				-	70 _			_	19			
1 _	5				71 _			_	20			50 700 0
2					72			_	TO	TAL	\$	53,700.00
3 _					73			_				
4 _			7	- N	74							
5 _				-	75			_				
6		0.0			76					ct Time Remaining:		
7 _					77			_		ACT PERIOD:		к то снооѕ
3 _					78			_		Contract Date:		ugust 15, 201
9 —				-	79			_	Original	Contract Time:	-	
) _					80			_		y Change Order:		
				_	81			_		t Time to Date:	0	
2 _				3/	82					sed to Date:	17	
3 _					83			_	Contrac	t Time Remaining:		
4 _					84			_				
; –					85			_				
3 -				7.7	86			_				
, <u> </u>				<del>-</del>	87			_				
3 -					88			_				
r <u> </u>					89			=				
) _				_	90			_				
_					91							
2 _				_	92 _			_				
3					93			_				
ι _				-	94			_				
5 _					95			_				
3 =					96			_				*
7 _				-	97			_				
8 _					98		32	_				
9 _				_	99			_				
o <u> </u>					100			_				

## Engineering – Planning – Landscape Architecture - Surveying

#### INVOICE

City of Ankeny

Invoice Date: 6/10/2017

Attn: Matt Ahrens

Billing Period: 05/01/17-05/31/17

220 W. 1st Street

Invoice No:

16003.07

Ankeny, Iowa 50023

Project No: 16003

Project: The District Public Parking Lot - Phase 4

Basic Services:	Hours	Rate	Amount	Current
A1.05 Construction Phase				
Engineer V	21.0	\$125.00	\$2,625.00	
Engineer II	5.0	\$85.00	\$425.00	
Land Surveyor II	13.5	\$85.00	\$1,147.50	
Technician V	1.0	\$95.00	\$95.00	
Technician III	12.0	\$75.00	\$900.00	
Technician II	86.5	\$65.00	\$5,622.50	
Technician I	22.0	\$55.00	\$1,210.00	
		Subtotal:	\$12,025.00	<u>\$12,025.00</u>
		Total:	\$12,025.00	
	Previous Invoices:		\$87,215.00	
	Tota	al to Date:	\$99,240.00	
Contract Amount: \$ 119,000.00				
Amount Remaining: \$ 19,760.00				
		<b>Total Due</b>	this Invoice:	\$12,025.00

NILLES ASSOCIATES, INC.



#### **Engineering – Planning – Landscape Architecture – Surveying**

June 10, 2017

Matt Ahrens, P.E. City of Ankeny 220 West First Street Ankeny, IA 50023

RE: THE DISTRICT PUBLIC PARKING LOT – PHASE 4 PROGRESS REPORT NO. 7

Dear Matt,

Please find the attached Invoice for our services for the above referenced project. This progress report and attached invoice covers work from May 01, 2017 through May 31, 2017.

The following Engineering Services were covered during this period as part of the Basic Services:

A1.05 Construction Phase

General administration of construction. Provided construction staking and construction observation services.

Please feel free to contact us with any questions or comments.

Sincerely,

NILLES ASSOCIATES, INC.

John P. Nilles